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—oIEAMNEZ DXAM LS(SII)
1,720 +629+331*30/ 100 974
202 (4Hl 1,700 1,800 A 100
01 =LA b 1,700 1,800 A 100
OFA0 1,700,000& 1,700
20t EHIALY 2,995,678 2,376,428 619,250
= 1,497,839
= 1,497,839
401 Al&HIZL=ROHYI 2,995,678 2,376,428 619,250
= 1,497,839
= 1,497,839
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S TR e Dt

fu i e

B obE BU(IELX AN/ TR)

CHel: Sta e (el @ e
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 %Egﬁ Husz
01 Al 2,984,803 2,367,872 617,021
O£t & FHIALY 1,297,779,560% +2. 3kn 2,984,803
2 1,497,839
2 1,487,054
03 AlZ=0HHI 10,785 8,556 2,229
O£CGHEFHIAIY  2,995,678,0002(0.36/100) 10,785
ARE FOSALY 336,000 28,000 308,000
401 Al&HI2=0HH| 336,000 28,000 308,000
01 Al&H] 333,125 27,697 305,428
O£R2 FYBO X¥ 70,000,000 14! 70,000
2xg 94,962
—82012 2BA0E THIBA
222,5602! B0 17,805
—JlE0S MEBAGHE ZHIBA
148, 75121 +266m 39,568
—SMOIS QAR FUIBA 375,8002+100n 37,589
O 2= 14,838
—2YNS 2YAGHE FHIBM
296, 76021 x50 14,838
O g 9,892
—4ZB0lS BABY ASLBA
989, 200€! 10 9,892
O =4l 103,865
—220IE A5HE L ANEXBM
375,8902!+100m 37,589
—2T AWE(AN) EXNBA
2,670,8002! 10m 26,708
—E0} AGH® FUIBAL  197,8402+200m 39,568
O orgel 39,568
—AEBD2) SOHHHIZAL 197,840 200m 39,568
03 AlZ=0HHI 2,875 303 2,572
O 2x8 1,038
—8012 2340 FHISM
18,000, 0002 *1.08/100 195
—JlE0IS MEBAGHE ZHIBA
40,000, 00021 *1.08/100 432
—QADIS SaE FHIBA
38,000, 0002 *1.08/100 411
O 2= 162
—2UtE QYA THIBA
15,000, 0002 *1.08/100 162
O g 108
—HZ0lS BAZY HSEXBA
10,000, 00021 +1.08/100 108
O =aol 1,135
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A THE oA 22| ot
A otd FHI(
Gt

el ot 2tel (&9 &)
= X XH Ctol (o (=] o HASZ OH X‘—-IL‘EL‘:— =2}t
—22A0IS A5HE U SAHETIBA
38,000,000& +1.08/100 411
—Z= 2u(AAH) EX3AM
27,000,000& *1.08/100 292
—SJt actd HBISA
40,000,000& *1.08/100 432
O etdd 432
—MES102 S IHISAM
40,000,000& *1.08/100 432
oI 2X sy & BE= 28,000 0 28,000
= 14,000
o 14,000
401 AlZHI R HYI 28,000 0 28,000
& 14,000
T 14,000
01 AlZHI 28,000 0 28,000
OBt SN HB5Y L BRS
28,000,000& * 14! 28,000
= 14,000
o 14,000
Y2 BHI(MterA 22| o) (J1EH JIE) 36,530 30,860 5,670
Jl=238l 36,530 30,860 5,670
A Jl=234 12,480 10,560 1,920
201 LEt=EH| 6,240 5,280 960
01 Ab=2telH 6,240 5,280 960
OJl=ge=d 6,240,000 6,240
202 O 6,240 5,280 960
01 =LHAOYI 6,240 5,280 960
OJlzge=d 6,240,000& 6,240
g Jl=3dl 24,050 20,300 3,750
201 B2 24,050 20,300 3,750
01 AtS22ibl 24,050 20,300 3,750
Og &l 50,0002 x1&»112& 5,600
O=2H 50,0003 12 »365& 18,250
O=2gH] 200,000& 200
HWeas(Htt2Ae| B (SSEMLE /T - e 74,795 59,956 14,839
2]
WEHeHXIZ (LB AH) 74,795 59,956 14,839
Het2ellls 883 74,795 59,956 14,839
702 JI=sdES 74,795 59,956 14,839
01 JI=dE=S 74,795 59,956 14,839
oMt llg &= 7,479,500,000& x1/100 74,795
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